
Quad Link (QL) - Van Seats with SPJ+ Joysticks



Quad Link (QL) - Van Seats with SPJ+ Joysticks
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
1140898 Quad Link (QL) with Instruction Sheet - Right 1 11
1140899 Quad Link (QL) with Instruction Sheet - Left 1 11
1134844 Instruction Sheet, Quad Link 1 1E
1140425 Kit, Quad Link Latch Hardware 1 12 A

1140424-NLA NLA - Kit, Quad Link Screw Fastener Hardware 1 13 B
1143042 Kit, Quad Link Mounting Hardware - Van Seat 1 14 C

Plug Button, Black (7/8") 1 15
Locknut (1/4-20) 1 36
Tube, Joystick Offset (2") 1 17
Tie Wrap (11-1/2" L) 1 18
Spacer (1/4 x 3/8 x 1") 1 39
Screw, Hex Head (1/4-20 x 1-5/8") 1 310
Screw, Phillips Pan Head (#10-32 x 1-1/8") 1 211
Spacer, Joystick Tube, Black 1 112
Screw, Phillips Pan Head w/ Patch (#10-32 x 3/4") 1 213

1105414 Screw, Phillips Pan Head w/ Patch (#10-32 x 3/4") 1 213
1139681 Clamp Assembly, Fixed Height, Captain/ Van Seat 1 114

1143041-NLA NLA - Kit, Quad Link Mounting Hardware - Van Seat 1 115 D
Plug Button, Black (7/8") 1 116
Locknut (1/4-20) 1 317
Tube, Joystick Offset (2") 1 118
Tie Wrap (11-1/2" L) 1 119
NLA - Spacer (1/4 x 7/16 x 5/8") 1 320
Screw, Hex Head (1/4-20 x 1-1/4") 1 321
Screw, Phillips Pan Head (#10-32 x 1-1/8") 1 222
Spacer, Joystick Tube, Black 1 123
Screw, Phillips Pan Head w/ Patch (#10-32 x 3/4") 1 224

1105414 Screw, Phillips Pan Head w/ Patch (#10-32 x 3/4") 1 224
1105049 Clamp Assembly, Fixed Height, Captain/ Van Seat 1 125

A - Latch Kit includes 4 ea. Button Head Cap Screws (10-32 x 3/8"), 2 ea. Latch Spring Assembly, 4 ea. Phillips Flat C'Sunk 
Head Screws, 2 ea. Spring Catch Plates, 2 ea. Socket Head Set Screws (10-32 x 3/8")  

B - Screw Fastener Kit includes 4 ea. Socket Head Shoulder Screws (3/8 x 3/8"), 2 ea. Socket Head Cap Screws (1/4-20 x 
3/8"), 2 ea. Socket Head Set Screws (1/4-20 x 1/2"), 4 ea. Socket Head Set Screws (10-32 x 1/8")  

C - Includes items 5-13.  
D - Includes items 16-24.  
E - Not Shown  

NOTE:

 


